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A 6. [207] R 2] Al HE] u, v, w o 93] A== FYPSHA e RujE Ve o o, A g
u+v+w, u+2v+3w, u—v+w

ol sl A== HAsHA Q] FulE FoA L.
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(58| HH 2 +y+2=1¢99 4 d A= (1,0,0), B=(0,1,0), C =(—-1,1,1), D = (1,—1,1)
o YIHOR Bt P = (2,2,2)5 UmA] EAF O 2 She AHZHE] Bulg 5L



A 8. [154] SstmA =

r=1-—cosb

2 Fol2l TAOA ¢ = 281 ol Aol Falo] 718718 P L.



BA 9. 207 SXEAR r =8sin’(0/3), 0< 6



r=1—sint, y=1—cost (0<t<2m)

o WG} p(t) = 1 — cost 2 FOIHS 1),



2 11. [158] T4 X (1) = (¢, In(sint)), (0 <t < 7) 2]9] & (go) oM o] ZEHEE T5IA] Q.



